KRR R RRRRRRRRRRRRRRRR KKK

Profit Loss as Percentage

Name Date
Class Roll No
School Name

Find the following,

An article was sold for 550 rupees with a profit of 10%. Find its cost price.

Cost of an item is 40 rupees. It was sold with a profit of 15%. Find the selling
price of an item.

An item was sold for 580 at a loss of 6%. Find its cost price.

An item was sold for 580 at a profit of 6%. Find its cost price.

A shopkeeper bought a table for 9000 rupees and sold it for 10000 rupees. Find
the gain Percentage.

Selling price of a toy car is 630. If the profit made by shopkeeper is 15%, what
is the cost price of this toy?

Anushka sells a washing machine for 19,500. She loses 15% in the bargain. What
was the price at which she bought it?
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